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AA1 / QMB jHdmdr i|yd m%udKd;aul l%u01

									         	 A fldgi
wksjd¾h m%Yak myf<djls' ^15&

^uq¿ ,l=Kq 40&

1 jk m%Yakh i|yd fhdað; W;a;r 

1.1	 W;a;rh (2)
	 3x + 3 	 = 2(x + 2)
	 3x + 3  	= 2x + 4
  	 x       	 = 1	

       (,l=Kq 03) 
1.2	 W;a;rh (1)
	 I = prt		  P = 25 000 	 r = 8.0% = 0.08 	 t = 5

	 I 	 = 25 000 x 0.08 x 5
	 I 	 = 10,000

     (,l=Kq 03) 
1.3	 W;a;rh (4)

	 TR  	 = 33q  - 4q2
	 MR 	 = 33 – 8q

(,l=Kq 03) 
1.4	 W;a;rh (3)

	 Q	 = (9,500 / 6,000) x 100
		  =  (q1 / q0) x 100
		  = 158%		

       (,l=Kq 03)

YS% ,xld .KldêlrK Ys,amSh wdh;kh
wOHdmk yd mqyqKq lsÍï wxYh

AA1 úNd.h - 2020 ckjdß
(AA12) jHdmdr i|yd m%udKd;aul l%u

fhdað; W;a;r
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1.5 	 W;a;rh (2)

(,l=Kq 03)
1.6   	 W;a;rh (1)

(,l=Kq 03)

1.7 	 W;a;rh (3)
	 T 	 = 210 + 3x
  	 2019 j¾Ifha X ys jákdlu 7
	 T 	 = 210 + 3×7
        		  = 231	

 (,l=Kq 03)
1.8 	 W;a;rh (4)
	 P(MUY) 	 = 0.11 + 0.12 + 0.33
	    		  =  0.56 

(,l=Kq 03)
1.9 	 W;a;rh (2)
	 E(X) 	 = ∑ X×P
        		  =  1000× 0.15 + 1100 × 0.20 + 1250 × 0.30 + 1320 × 0.25+ 1400 × 0.10
        		  =  re.1,215

(,l=Kq 03)
1.10 	 W;a;rh (3)

(,l=Kq 03)
1.11	 .ekqï ñ, = (100/125) × 145 ,000 = re. 116,000/-

(,l=Kq 02)

NPV = uqo,a .,dtaïj, Y=oaO j¾;udk w.h – uqo,a .,dhdïj, Y=oaO j¾;udk w.h 
PV = X

(1+r)n  r = 0.1  PV = X
1.1n 

  
 NPV = 2 ,500 ,000

1.11 + 2,500,000
1.12 +  2 ,500,000

1.13 − 5 000 ,000 
 
 NPV = 6, 217 ,130 – 5 ,000, 000 
              Y='j'w'=  1, 217 130  re'  1, 215 ,000 
 
 
1.6   Answer 01 
 

∑ 𝑃𝑃 = ∑ 𝑃𝑃1
∑ 𝑃𝑃0 × 100  

  
 ∑ 𝑃𝑃 = 1370

1240 × 100  
 
 ∑ 𝑷𝑷 = 110% 
 

NPV = uqo,a .,dtaïj, Y=oaO j¾;udk w.h – uqo,a .,dhdïj, Y=oaO j¾;udk w.h 
PV = X

(1+r)n  r = 0.1  PV = X
1.1n 

  
 NPV = 2 ,500 ,000

1.11 + 2,500,000
1.12 +  2 ,500,000

1.13 − 5 000 ,000 
 
 NPV = 6, 217 ,130 – 5 ,000, 000 
              Y='j'w'=  1, 217 130  re'  1, 215 ,000 
 
 
1.6   Answer 01 
 

∑ 𝑃𝑃 = ∑ 𝑃𝑃1
∑ 𝑃𝑃0 × 100  

  
 ∑ 𝑃𝑃 = 1370

1240 × 100  
 
 ∑ 𝑷𝑷 = 110% 
 

1.10 Answer 03 
 

   
    
n 

S = X(1+r) 
    

S = 200 000 × (1 + 0.12)3  
S = 280,985.60  

    re'  280,986 
 
 
Purchase Price = 100

125 × 145 ,000 = Rs.116,000/- 
 
 
01 l%uh 

 
  re. X hkq 6% ys wdfhdackh o"  
  re. Y hkq 8% ys wdfhdackh o f,i Wml,amkh l< úg 

  X + Y        = 500 000                      1 

   6
100 × 𝑋𝑋 + 8

100 × 𝑌𝑌 =  38,000                2 
YsIHhkag .Kl hka;%h Ndú;fhka my; ms<s;=r <Õd lr.; yelsh' 

  X = 100,000 
  Y = 400,000 
W;a;rh,          6%, g wdfhdackh lrk uqo, re' 100,000 yd 

  8% g wdfhdackh lrk uqo, re' 400,000 fõ' 

 
02 l%uh 

 
6% g wdfhdackh l< uqo, re' X f,i Wml,amkh l< úg" 

   
re. (500 000 – X) 8% g wdfhdackh l< úg 

(𝑋𝑋 ×  1 × 8
100) + ((500 000 − 𝑋𝑋)  ×  1 × 6

100    )           = 38,000   

  0.08𝑋𝑋   +  0.06 (500 000 − 𝑋𝑋)                                           = 38,000 
 0.02𝑋𝑋 + 30,000 − 0.06𝑋𝑋                                                      = 38,000 

                                                   0.02X    =    8,000 
 
                                                                                     X  = 400,000 
W;a;rh  6% g wdfhdackh l< uqo, re' 100,000 
  8% g wdfhdackh l< uqo, re' 400,000 
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1.12

(,l=Kq 02)

1.13	 kshe§u Ndú; lsÍug fya;=

	 1.  ix.ykh úYd, ùu

	 2.  úYajikSh;ajh		
	 3.  jehjk msßjeh wvqùu

	 4.  .;jk ld,h wvqùu

			   ^´kEu lreKq folla&

	 (,l=Kq 02)
1.14 	 wi;Hhs

(,l=Kq 02)
1.15 	 i;Hhs

(,l=Kq 02)
	 (uq¿ ,l=Kq 40)

1.10 Answer 03 
 

   
    
n 

S = X(1+r) 
    

S = 200 000 × (1 + 0.12)3  
S = 280,985.60  

    re'  280,986 
 
 
Purchase Price = 100

125 × 145 ,000 = Rs.116,000/- 
 
 
01 l%uh 

 
  re. X hkq 6% ys wdfhdackh o"  
  re. Y hkq 8% ys wdfhdackh o f,i Wml,amkh l< úg 

  X + Y        = 500 000                      1 

   6
100 × 𝑋𝑋 + 8

100 × 𝑌𝑌 =  38,000                2 
YsIHhkag .Kl hka;%h Ndú;fhka my; ms<s;=r <Õd lr.; yelsh' 

  X = 100,000 
  Y = 400,000 
W;a;rh,          6%, g wdfhdackh lrk uqo, re' 100,000 yd 

  8% g wdfhdackh lrk uqo, re' 400,000 fõ' 

 
02 l%uh 

 
6% g wdfhdackh l< uqo, re' X f,i Wml,amkh l< úg" 

   
re. (500 000 – X) 8% g wdfhdackh l< úg 

(𝑋𝑋 ×  1 × 8
100) + ((500 000 − 𝑋𝑋)  ×  1 × 6

100    )           = 38,000   

  0.08𝑋𝑋   +  0.06 (500 000 − 𝑋𝑋)                                           = 38,000 
 0.02𝑋𝑋 + 30,000 − 0.06𝑋𝑋                                                      = 38,000 

                                                   0.02X    =    8,000 
 
                                                                                     X  = 400,000 
W;a;rh  6% g wdfhdackh l< uqo, re' 100,000 
  8% g wdfhdackh l< uqo, re' 400,000 

 

03

End of Section AA fldgfiys wjidkh'
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2 jk m%Yakh i|yd fhdað; W;a;r

(a)

	 02 mßÉfÊoh - 1 fldgi - m%udKd;aul uQ,H - fmd,sh

i)

(,l=Kq 04)

ii)	 uq¿ fmd,sh 	 = re. 950,250 – 750,000 

                            	 = re. 200,250/-

(,l=Kq 02)

(b)	 A	 =	 SRn  x  (R - 1)	
			          Rn-1	
		  =	 500,000 * (1 + 0.14)5 * (1 + 0.14 - 1)
				     (1+0.14 )5 -1	

		  =	 500,000 (1.14)5 * 0.14	

			               (1.14)5 - 1	

		  =	 500,000 * 1.925 * 0.14	

				    1.925-1	
		  =	 134,750			
			     0.925			 

		  =	 re. 145,675.67	 <= jdßlh	

(,l=Kq 04)

(uq¿ ,l=Kq 10)

										          B fldgi
wksjd¾h m%Yak y;rls' ^04&

(uq¿ ,l=Kq 40)

X = 750,000,  r = 12% =0.12, t = 2, n=4 
 
S = X(1 +  r)n 
 

S = X(1 +  r
n)nt 

 

S = 750,000( 1 + 0.12
4   )2×4 

   

S = 750,000 × (1.03)8 
 

S = 750,000 ×1.267 
 

S = 950,250/-  
 
jir 3 wjidkfha we;s uq¿ uqo, re' 950,250/- 
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3 jk m%Yakh i|yd fhdað; W;a;r

(a)
	 03 mßÉfÊoh - uQ,H l¾uKH ñKqï

	 I l%uh

	 ,dN Ys%;h	 	 =	 TR - TC
			   P	 =	 74x + 2x2 –( 3x2 - 86x - 250)
				    =	 74x + 2x2 – 3x2 + 86x - 250
				    =	 -x2  + 160x - 250

	 ,dN Wmßu jk úg	 =  d2p  < 0
                                          	     Dx2

			   So, 	 dp  	 =  -2x + 160
      					          Dx
				    2x	 = 160
				    x	 = 80
	 tuksid 	 => ,dN Wmßu lrk wjia:dfõ § tall .Kk

		       	 => x = tall 80

	 II	 l%uh	
	 MR	 =	 74 + 4x
	 MC	 =	 6x - 86
	 74 + 4x	 =	 6x - 86
	 160	 =	 2x		
	 80		 =	 x		
	 (,l=Kq 04)
(b)	   (i) 	 uq¿ msßjeh (TC)	 = úp,H msßjeh  + ia:djr msßjeh

                                 			   = 75x + 250,125

      			   ,dN Ys%;h		  =TR - TC
                                  			   = 650x - (75x + 250,125)
                                  			   = 650x - 75x - 250,125
                                  			   = 575x - 250,125

(,l=Kq 03)
	 (ii)	 I l%uh

			   iudhk ,laIHfha § ,dN Ys%;h

			   575x- 250,125   = 0
                		  575x  	 = 250,125
                      		  x  	 = 435

			   II l%uh

             		 TR     = TC
             		 650x  =75x+250,125
             		 575x  = 250,125
             		 x        = 435

(,l=Kq 03)
(uq¿ ,l=Kq 10)
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4 jk m%Yakh i|yd fhdað; W;a;r

(a)
	 04 mßÉfÊoh - ixLHd;aul úia;rd;aul ñkqï

(a)

(,l=Kq 03)

(b)

(,l=Kq 04)

(c)

I l%uh 
 

 
 
 
 
 
 
 
 
 

 
uOHkHh  = ∑ƒx          

                              ∑ƒ 
             
                  = 1,705 
                                 50 
                = 34.1 

 
  
 

 iïu; wm.ukh  = √∑ 𝑓𝑓𝑓𝑓2

∑ 𝑓𝑓 − 𝑥̅𝑥2         
 

                                      = √69,132.5
50 − (34.1)2         

 
                              = √1,382.65 − 1,162.81  
 
                       = √219.84 
 
                                       = 14.83 
 

udisl jegqm  
(re.’000) uOH w.h(x) 

fiajlhka 
.Kk (ƒ) ƒ (x) ƒ(x)2 

10 - 19 14.5 6  87   1,261.50  
20 - 29 24.5 20  490   12,005.00  
30 - 39 34.5 8  276   9,522.00  
40 - 49 44.5 6  267   11,881.50  
50 - 59 54.5 6  327   17,821.50  
60 - 69 64.5 4  258   16,641.00  

  ∑ƒ=50 ∑ƒ x=1,705 ∑ƒ x2 =69,132.50  

I l%uh 
 

 
 
 
 
 
 
 
 
 

 
uOHkHh  = ∑ƒx          

                              ∑ƒ 
             
                  = 1,705 
                                 50 
                = 34.1 

 
  
 

 iïu; wm.ukh  = √∑ 𝑓𝑓𝑓𝑓2

∑ 𝑓𝑓 − 𝑥̅𝑥2         
 

                                      = √69,132.5
50 − (34.1)2         

 
                              = √1,382.65 − 1,162.81  
 
                       = √219.84 
 
                                       = 14.83 
 

udisl jegqm  
(re.’000) uOH w.h(x) 

fiajlhka 
.Kk (ƒ) ƒ (x) ƒ(x)2 

10 - 19 14.5 6  87   1,261.50  
20 - 29 24.5 20  490   12,005.00  
30 - 39 34.5 8  276   9,522.00  
40 - 49 44.5 6  267   11,881.50  
50 - 59 54.5 6  327   17,821.50  
60 - 69 64.5 4  258   16,641.00  

  ∑ƒ=50 ∑ƒ x=1,705 ∑ƒ x2 =69,132.50  

úp,;d ix.=Klh (V)     = iïu; wm.ukh * 100% 
                                                                    uOHkHh 

                                                      =  𝑆𝑆𝑋̅𝑋 × 100 
 

=  14.8334.1 × 100 
      

        =  43.49%  
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II l%uh 
   

 
 
 

uOHkHh     =     ∑ fX 
                                            ∑ f 
  

                =      1,730 
                                    50              

                 =     34.6 
 

 

   iïu; wm.ukh  = √∑ 𝒇𝒇𝒇𝒇𝟐𝟐

∑ 𝒇𝒇 − 𝒙̅𝒙𝟐𝟐         
 
 

                                          = √70,850
50 − (34.6)2         

 
                                       = 14.82 
 
 
 
 

úp,;d ix.=Klh (V)   = iïu; wm.ukh *100% 
                                                         uOHkHh                                             

                                         = 𝑆𝑆
𝑋̅𝑋 × 100 

 
                                                     = 14.82

34.6 × 100 
      

= 42.83%  
  

 

udisl jegqm   
(re.’000) uOH w.h(x) fiajlhka .Kk (ƒ) ƒ (x) ƒ(x)2 
10 - 19 15 06 90  1,350 
20 - 29 25 20  500  12,500 
30 - 39 35 08  280  9,800 
40 - 49 45 06  270  12,150 
50 - 59 55 06  330  18,150 
60 - 69 65 04  260  16,900 

  ∑ƒ = 50 ∑ƒ x = 1,730 ∑ƒ x2 = 70,850  

II l%uh 
   

 
 
 

uOHkHh     =     ∑ fX 
                                            ∑ f 
  

                =      1,730 
                                    50              

                 =     34.6 
 

 

   iïu; wm.ukh  = √∑ 𝒇𝒇𝒇𝒇𝟐𝟐

∑ 𝒇𝒇 − 𝒙̅𝒙𝟐𝟐         
 
 

                                          = √70,850
50 − (34.6)2         

 
                                       = 14.82 
 
 
 
 

úp,;d ix.=Klh (V)   = iïu; wm.ukh *100% 
                                                         uOHkHh                                             

                                         = 𝑆𝑆
𝑋̅𝑋 × 100 

 
                                                     = 14.82

34.6 × 100 
      

= 42.83%  
  

 

udisl jegqm   
(re.’000) uOH w.h(x) fiajlhka .Kk (ƒ) ƒ (x) ƒ(x)2 
10 - 19 15 06 90  1,350 
20 - 29 25 20  500  12,500 
30 - 39 35 08  280  9,800 
40 - 49 45 06  270  12,150 
50 - 59 55 06  330  18,150 
60 - 69 65 04  260  16,900 

  ∑ƒ = 50 ∑ƒ x = 1,730 ∑ƒ x2 = 70,850  

(a)

(,l=Kq 03)

(b)

(,l=Kq 04)

(c)

(,l=Kq 03)
(uq¿ ,l=Kq 10)

07
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5 jk m%Yakh i|yd fhdað; W;a;r

(a)
	 05 mßÉfÊoh - m%udKd;aul úp,Hhka folla iei`§u

(,l=Kq 03)

(b)	 Y = a + bx ys wvq;u j¾. m%;smdhk f¾Ldj y÷kd oelaùu

 

 
 
∑ X =305,   ∑ Y = 403,   ∑ XY = 21,692,   ∑ X2 = 16,477,   n = 6  

 

40

50

60

70

80

90

100

30 35 40 45 50 55 60 65 70 75

u
q¿
 k

sI
am
do

k
 m

sß
j
eh

ksIamdokh l< jdyk .Kk

 

x y xy X2 

42 56           2,352            1,764  
51 68           3,468            2,601  
32 43           1,376            1,024  
60 76           4,560            3,600  
48 66           3,168            2,304  
72 94           6,768            5,184  

305 403         21,692          16,477  
 
 
b        =          n ∑ XY -  ∑ X ∑ Y 

                        n ∑ X2 -  (∑ X)2  
 

b        =         ( 6 x 21,692 ) - (305 x 403) 

                 (6 x 16,477) - (305) 2 

b        =         130,152 - 122,915 

              98,862 - 93,025 

b        =        7,237 

            5,837 

b        =       1.24 
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a        =       𝑌̅𝑌 − 𝑏𝑏𝑋̅𝑋 

a        =   403
 6 − (1.24 × 305

6 ) 
 
a        = 67.2  -(1.24 * 50.83) 
 
a       =  4.17 
 
 m%;smdhk f¾Ldj 
 Y =  a     +  bx 
 Y = 4.17 + 1.24x  
 

(,l=Kq 05)

(c)	 x = 55 wdfoaY l< úg

	 Y = 4.17 + 1.24x
	 Y = 4.17 + 1.24 × 55
	 Y = 72.37	
	
	 wfmalaIs; ksIAmdok msßjeh = re' ñ,shk 72.37

(,l=Kq 02)
(uq¿ ,l=Kq 10)

B fldgfiys wjidkh'
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										          C fldgi
wksjd¾h m%Yakhls'

(uq¿ ,l=Kq 20)

6 jk m%Yakh i|yd fhdað; W;a;r

	 05 mßÉfÊoh - m%udKd;aul úp,Hhka folla iei`§u	

(A)	 3x + 5y = 36	 - (1)
		  2x + 6y = 32	 - (2) 
		  x = 7,	 y = 3

	 (1) x 2	 	 6x + 10y	 = 72	 - (3)
	 (2) x 3	 	 6x + 18y	 = 96	 - (4)
	 (4)	 - (3)	
					     8y	 = 24		
					     y	 = 3		
										        
	 (1)			   3x +  5 * 3	 = 36	
					     3x	 = 36 - 15	
					     3x	 = 21	
					     x	 = 7	

 (,l=Kq 03)

(B) 	

	 06 mßÉfÊoh - II fldgi - ld, fY%aKs 

	 § we;s j.=fõ a isg g olajd w.hka .Kkh lsÍu

            a 	 = 225 + 275 + 250 + 350    

                           	      4

     	   		  = 1,100 / 4

			   = 275

		  b 	 = 350 + 250 + 300+ 275   

                           	      4

			   = 1,175 / 4

           		  = 293.75

		  c 	 =  275 + 400 + 275+ 350    

                           	        4

                	 = 1,300 / 4

			   =  325

10
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		  d 	 =   (262.5+ 275) / 2

           		  =  537.5 / 2

			   =  268.75   

		  e 	 =   (293.75 + 306.25) / 2

   			   =  300 / 2

			   =  300   

		  f     	 =    Y / T      

   			   =  250  /  278.125

			   =  0.899  

         	 g     	 =  275 / 328.125      

   			   =  0.838         

(,l=Kq 07)

(C) 

	 07 mßÉfÊoh - 1 fldgi - iïNdú;djh iy tys fh§ï 

a)

	 	 R - r;= ùÿre fnda,hla .ekSu

		  B -  l¿ ùÿre fnda,hla .ekSu

(,l=Kq 04)

 

m<uqjk 

ùÿre fnda,h

fojk 

ùÿre fnda,h
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b)

(,l=Kq 02)

(,l=Kq 02)

 (,l=Kq 02)

  (uq¿ ,l=Kq 20)

(i) ,nd.;a fnda, folu tlu mdg fnda, ùfï iïNdú;dj 
 
 P= P(A)+ P(D) 

 
              
 

 
(ii) wvq ;rñka tla fnda,hlaj;a r;= mdg fnda,hla ùfï iïNdú;dj 

 
P= 1 - P(D) 
 
    = 1- 9 
          64 
 
    =55 
      64 

  
(iii) wvq ;rñka tla fnda,hlaj;a l¿ mdg ùfï iïNdú;dj 

  
P = 1 - P(A) 
 

                       =1 - 2564  
 

   = 39 
      64 

 

25 + 9 = 34 
64  64  64 

C fldgfiys wjidkh'
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Notice : 

These answers complied and issued by the Education and Training Division of AAT Sri Lanka 
constitute part and parcel of study material for AAT students.
These should be understood as Suggested Answers to question set at AAT Examinations and should 
not be construed as the “Only” answers, or, for that matter even as “Model Answers”.
The fundamental objective of this publication is to add completeness to its series of study texts, 
designs especially for the benefit of those students who are engaged in self-studies. These are 
intended to assist them with the exploration of the relevant subject matter and further enhance their 
understanding as well as stay relevant in the art of answering questions at examination level.
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